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( ) ‘R +xe =R
( ) o :40H™ -4e =—=0, 1 +2H,0
“ 9 : % < x =
560 mL x 10 ’L/mL
. ) 224 L/mol x 4 M =10mx g/mol
) R 10mx.
1 \ ° 3 N
’ 100 mL 4.4 mol /L
(1) NH, + 0,—NO + H,0
’ i B 896 ml. ( )
NH, N -3-+27 NH, Se
) o B HCl  FeCl, 1.28 ¢
0, “0. 0— —”2 ! 0, 2e x2=4e 320 mL.
N0, 0.25 mol/L
4: 5 “ »
4NH, +50, =—=4NO +6H,0
(2) P+ CuSO, + H,0—Cu,P + H,PO, + H,SO,
Cu,P
HPO, ' Fe H,:896 mL
Cu: +2—+1] e x3=3e"
Cu,P Fe,0,} + (100 mL 4.4 mol /1) — { FeCl,
’ P:0—-3] 3e”
_ _ _ CuO Cu:l.28 ¢
Cu,P 3e” +3e” =6e
H,PO, P:0—+51 H.,PO, Se~
“ " CuP  H,PO, L8 '
. ‘@ »” = ° g -
5:6 m( CuO) 64g/mo1><(64+16) 1.6 g

:11P + 15CuS0, +24H,0 —
5Cu,P +6H,PO, +15H,S0,

43 ”»

:n( HCl) =100 mL x
107 x4.4 mol/L =0. 44 mol
:n(HCl) =320 mL x 107 x
0.25 mol/L =0.08 mol

896 mL x10~’

n(H) =
) = Ll

=0.04 mol

x mol
¥ molo

(Fe:0—+21 :2x mol P
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1 (2012 ) 25°C
¢( CH,COOH) + ¢( CH,CO07) =0.1 mol * L.”!
. IR 1 p—
é 0.075 \‘\
¢( CH,COOH) . " 0050 e
«(CH,C00") pH  ooas ‘\\\
1 o 0575 335 475 575 655
pH
1
( )

A.pH =5.5 : ¢( CH,COOH) >
¢(CH,CO07) >¢(H") >c¢(OH")

B.W ie(Na™) +¢(HY) =
¢( CH;COOH) +c¢(OH)

C.pH=3.5 ic(Na™) +¢(H") -
¢(OH") +¢( CH,COOH) =0.1 mol « L™

D. w 1.0 L
0.05 mol HCI ( ):
¢(H*) =¢( CH,COOH) +c(OH")

W pH=4.75

¢( CH,C00") =¢( CH,COOH) =0.050 mol * L™ pH

518101

<4.75  ¢( CH,COOH) >¢(CH,CO0") pH >4.75
¢( CH,COOH) <¢(CH,C007) A o
c(Na") +¢(H") =c¢(CH,CO0™) +
c(OH™) W ¢( CH,COOH) =¢( CH,CO0") B
o G c¢(Na™) +¢(H") -
¢(OH™) = ¢ ( CH,CO0™) ¢ ( CH,CO0™) +
¢( CH,COOH) =0.1 mol * L™ C . D 14
0.050 mol  CH,COOH  0.050
mol  CH,COO~ 0.05 mol HCI
CH,COONa + HCl === CH,COOH + NaCl
CH,COOH  NaCl
¢(H") =¢(CH,C00") +¢(OH") D &
BC.
2 (2010 ) D25 C
:K,(CH,COOH) =1.8
x1077 K,( HSCN) =0.13;

a

'K_(CaF,) =1.5x107",

sp

@25°C 2.0x10 7  mol *+ L'
pH( ) c( HF) .
c(F7) pH 2 :
2.0x10” il
1.6x10° HF

)

L12x10°
e

E80x10*
Q

40x10™

0 1 2 3 4 5 6 7 pH

» H,: +1-0] :0.04 mol x2 =0.08 mol

: L 1.28g 5
CuO: +2—0 | & g/mol x2 =0.04 mol
Fe,0,: +3—+2 | 2y mol
2x=0.08 +0.04 +2y @
‘(Cl* » :
2x +4y +0.08 =0. 44 @

e t2x=0.1 mol y=0.04 mol
m( Fe) =0.1 mol x56¢/mol =5. 6¢g
m( Fe,0;) =0.04 mol x (56 x2 +16 x3) g/
mol =6.4 g,

( 12015 —07 — 15)



